Not a funclion; fails the verticai-line test
¢) Domain = {+ = R}, Range = {f{x) €
R|Ax) = -3}

d) Domain = {x ER}, Range = {flx) €
R}

2.0y f(-5) ~-19

Ch 1

Answers: Chapter Review Extra Practice

1. a) Domain = {0, 1, 2, 3, 4}, Range =

{0, 2}

Function; cach x value maps lo only one

yvalue

b) Domain = v ER | -9 <x < 1}, Rangc
P ER|0Ax) £-10)

b) £0) = 6

3
c)g)=0
dyg(3a)=12a - 3
e)fl-b-4)=-5b- 14
NA3)-A-3)=30 ,
3. ) Domain = {xE R | x = 5}, Range
) ER|Axy =0}
b) Domain = {x ER}, Range = {fx) €
R | flx) = -4}

S da) 1\7—5)

b - D

S5.a) N =0

b)f'(x) =4 - Sx

6 a)flx) " -2x-3)"+ 3
byfs)=ix+]-3 -1
7. a) flx) =0-3]x ¢ nyY+s "g
b) fx) = 25 - 2/ - 1 :

1
=it
DAY= -3Ne+d-3

n
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Chapter 3 Chapter Review Extra Practice Answers

1. a) f(x) = Bx? + 32x + 27, yintercepu: {0, 27) o l : i
b) f{x) = =3¢+ 150 + 108 pimercep: ol e 2Ty
(0, 108) 1 9
e} fixy = =7¢% b ldx — b yinercepr: (0, 1) b)x = o3
]
dy fin) = gxl + %x = 2; y-imercept: (0, —2) Jrx=—lorx = %
&) flx) = 025" + dx + 12 yimrercept: (0, 12) 2 3
) f(x) = —12x% + 8dx — 1445 printercepi: dyv= 30”-' -
(0, - 144) 5 -
2. a} sininmmmg (2, =3) €)x = _me = _Z
b) l]l:l.ximl..llll‘.( %. %) ﬂ X = ‘) orxy = %
) miinimum: { =6, =3)
'-:Da:j "L d) minimum: (G, 1.5) 6. a)(:
e} naximn (=9, =2) h):
f) maximmm: {8, = §) ::l));
e o A ¥ ) ol
Joapy=3=% s £ 0

-
=

=
]
|

(X}

i X225 | ,
N 7.5 7.0[() = =3 = 7x = 8)
x+ 27 1
=7 - ——(x! = 2dx + )
() Qy=9 \/ 3 b) fix) ST fx + 1)

dy=-50* VI0x + 3 c)ﬂ_\,)_l(xg 9)
=3 F

ay=-17=4/= 9 d) flx) = =7x" + 28y = 19

Ny=+V-x- 100 ) fix) = %(.\"' Ha 4 30)
4. 0) 3V7 i,,3 B

b 12V3 O/ =307 "¢ ' 0

<) 10V3 8. )2

& VT b) 2

10 a0
¢ 30V3 42
0 L4V ¢

422 | Functions 11: Chapter 2 Chapter Review Extra Practice Answers
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D

3

L

28" - 3 28m - 3

b) mﬁnz mnm_m( g;z ”), nmrEl
2

c)—-'r—y_ % yED

p 2
d)i('\J—,“L, xEQy#E-2,0
7. Falsc,
81B,CD.T

Chapter Review

L.a)-5m-4n+17
b) ~a + 10615
€5 -2x-5

d) 2 + Gmn + 8

2. a) ycs

b) no
Jayy-Tp+12

b) 2Lv* -~ 11x- 2

€) 152+ 5210

d) 4¢ - 128 + 1207 - 47
e)6r + 77 - 115
4. a) (- 2)y + 6)

b) 3(2¢ + x - 3)
)(3:+2=-4)

d) Smn(er® - dme + )
c) (B+ kN8 - &)

N (2x+3)x-1)

S a) R Dix - 5)

b) o + 3)dy - 3)

c) Ha - 5)ea + 5)

d) (8= = 2z -9 —i> 2 (H 2+ lX‘l 2 "?)
e~
b) 4n* + 2 or 221 + 1)
3 1
c)

z=1

—r 427 h3
h+2

d) e !-G’k# 6,0

7. a)G;;r,)'#O

b) 15m n;m, n#0
40z

c)?'_.x,y,:#o

3xlx-4)
x=-1"

d) x#0,1,-3

Appendix Chapter 2 DRAFT
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A 5
u)l(‘t;]l:yt 30.-1,-3

8. n)%
9-+ 13
h)mz#—l, -3
2k =3
VE—awkr2nk 3y F A2
25— 1dx  x{25x— 14)

-3

d) |4}"" or 14}'2 S X, p#ED
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Chapter 4 Chapter Review Extra Practice Answers

La) (=5)4= 125 5. a) quadradc
b 2 | h) exponeneial
s =
o4 LAY )
o 1 G.a}y= (;) s horizontal compression by factar -
G- 2 2
r . A6 verrical rranslacion of 2 unirs down; y = 2
} (=) = = 1024
- 1 b}y = 1.5% vertical strerch of facror 5, horizonal
ai-6)'= o sereech of facear 3, verrical eranslacion of 1 uaies
1 upiy =4
Nt =— . 1
10 €} y = 1.0%% horizoncal compression of f:lcmrj-
D cﬁ 3 2. ::::ncnllal Radical Form | Evaluation hatizontal eranslacion of 1 wiic to the righe y = 0
1
,,%h{ Ja 2 d) ¥ = 1.2% verrical compression of facror _,
¥3 5 : o
‘25 horizoural compression of facror -,
an VAl 3 4
625> A= 3125 horizantal cranslacion of - unie
(-32y° (v-azy -128 to the left
o Ve 2 7.a) P = 38 00 5"
La) i’ = 38 000(1.035)
-+ 43¢ RVFTEY . T
*.r_'r% 3 v 293) e h) I represents the ciry's population, 38 000
@ | 1 represents die population in 2004, 1.035
3.q) Z represents ehe 3.5% groweh, anel 1 repressnes
1 the number of years
b ¢} Abour 55 479
o f:r'* d) Abour 40012
i ) 2020
d) -
‘1
4. 2) 65 330
b) -9
cl=2
16 | Functions 11: Chapter 4 Review Extra Practice Answers Copiht O 2003 by Thanion Helon
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Chapter 6 Review Extra Practice Answers

1. Answers may vary. One cxamiple is the lollowing:

L34 A

" .-? R

2. a) (0.08, 0.24)
b} {15.84,2.23)

<) (3.09., 5.14) Vil

d) {0.08, 0,4Y)

3. a) The function y = cos x has been muoved to the

right by 71°,

B} The functien y = sin » has been horizomally
stretched by a facior of 25.

) The function y = cos x has beew verically
strerched by a factor ol 19,

d} The funiction y = sin x has been tmoved down
i units.

©) The fnetion y = cos x has been reflecied in the
A-axis.

£} The lunciion y = sin x has been horizonally
compressal by a factar of 4,

4. @) period: 40% amplinule: 17: equation ol the axis:
h=13xD=|xER|0=x= 200
R=[rER 424330}

b} period: 180% amplitude: ' equation of the axis:
j=-4D={xeR ﬂ£x§‘)()0]:
R=(fER|—4{y=j= -3}

c) period: 1440% amplitmle: 33; cquation of the
awis: h = —61:D = [xER 0= x5 7200);
R=[IrER|~9 = /= 28]

d) period: 30°; amplirude: 1; equation of the axis:
j=322D= [xeR|0 = x=15010;

R= {fE R|3) = ;= 33}

¢) penwd: 2160% amplitude: 2; equation of the axis:

h=-70,D= [xEN|0 = x= 10800];
R={heER|-72= b= -08}

| Functions 11: Chapter 6 Review Extra Practice Answors

£) period: 120°% amplinade: 8.5; equation of the
axis: f = 5.5 D= [xER|0 = x = 600];
R=[jER|-5=;512)

5.a) f{x) = 15.5 cos{4x) + 3.5 0¢

Sla) = 155 sin(dx 4 90°) + 3.5
b)f{x} = =7 cos(18x) + 35ar

f(.t) 7 sin{18x + 90°) + 3.5
c) f(x) 11 cos{3060x) + 215 ar

S{x) = 115 (360x + 90°) + 1215

d) fx) _5%:(“(.1-]6'\:) + Slﬂm

1 1 3
{ = —_— -_—s 4 )+ —
Six) 50 sln( o 90 ) 50

LI T

G.a)d = 47.5m

b} 7.5 iz the eadivs of the buman cenrifiige
\c‘) 1 s3the amount of time it takes the human
“Tenrifuge 10 make one complere revolution
d)R = {JE R|4D = 4 = 59]
) d{t) = 7.5 51:1(569:] b 47.5

f}47.5 m: 4037 -
o

Hs

Copyaght © 2008 by Thamson Nelson




Chapters 1-3 Cumulative Review Extra Practice Answers

1y# 0, -3.4 8.a
2.253m 9. - 71, zero roots
3.c 10. b
i =53+ v =15 11. 194

{x — 7Hx+ 3) 12.a

Y

5.k = Z 13.c
6. d

7. about 1.0s

424 I Functions 11: Chapters §-3 Cumulative Review Extra Practice Answers
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Chapter 5 Review Extra Practice Answers

La)x =4
5 5 4
b} cse O = 3. sce f) = Z' ol O = ;
=37
2. Far cach tnangle:
) Calculare the exact valie of x.
ii} Caleulate the exact area
Wiy=3V2
i} 9 units?
11
Biy=—V3
oo 121
ii} p 3
3.a) 4 = 120° 240°
b} 0 = 45° 225°
) & = 30° 150°
4. Given the following coordinates:
i} Determine the value of ri1o the nearest 1cnth.
fi} Stme the primary trigonometric mtios for angle .
iit} State the value & to the nearest degree if
0° = 0= 3060°

a)i)r=36
: b
i) sin # = % cos ) = ﬁ. tan ) = %
iii) 0 = 56°
) i) r = 10.3
5 9
jiysin ) = =—— cos } = —=—,
ii} sin 103 oS 03
tan § = ==
9
i} = 151°
ciyr=57
4 4
i) sin 0 = ';3. cos O} = ﬁ' tan () =

fii} o — 225°

d)i}r=RS5

3 8
if)sinfl = —,cos 0 = —,1an 0 =

8.5 8.5
iti) # = 339°

- R ¥

5.a} sin
b) sec O

6. a) (iand + 6} (o - 6}
b) (sint) — 4)*

7.BC=T743m, AD =831 m
B.h=252m

9.4 =52mbli=106m

460 | Functions 11: Chapter § Review Extra Practice Answers
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